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Practice Paper Grade 7 (Day-1) 

 

fgUnh 

1- fn, x, okD; esa ls laKk 'kCn okyk fodYi pqus & eSa t;iqj dk jgus okyk@okyh gw¡A 

 ¼v½ eSa ¼c½  t;iqj ¼l½  jgus  ¼n½  okyk 

2- lgh fojke&fpUg okyk okD; pqusaA 

 ¼v½ gs HkxokuA ;g rks cgqr cM+h xyrh gSA ¼c½ okg! Nqfê;k¡ 'kq# gks xbZ gSaA    

 ¼l½ eSa ,d ?kaVs esa cktkj ls okil vk ldrk gwa\   ¼n½ D;k vkt vkids 

ikl dksbZ dk;Z ugha gS! 

3- uhps fn, x, okD; esa ls dky okpd 'kCn okyk fodYi pqusA  

 'osrk dy xkuk xk,xhA 

 ¼v½ 'osrk ¼c½  dy ¼l½  xkuk   ¼n½  xk,xh 

4- ^,d* dk foykse 'kCn gSA 

 ¼v½ vusd ¼c½  'kwU; ¼l½  d,  ¼n½  nks 

5- lgh okD; pqusaA 

 ¼v½ eSaus ,d vkneh dks yky jax dh ,d iqjkuh xkM+h [kjhnrs ns[kkA  

 ¼c½  eSaus [kjhnrs ns[kk ,d vkneh dks yky jax dh ,d iqjkuh xkM+hA  

 ¼l½ eSaus ,d vkneh dks ,d iqjkuh xkM+h [kjhnus ns[kk yky jax dhA  

 ¼n½ eSaus ,d [kjhnrs vkneh dks ns[kk ,d yky jax dh iqjkuh xkM+hA 

xf.kr 

1- uhps fn, x, uD'ks dks nsf[k,A 

   buesa ls dkSu&lh lM+ds ,d&nwljs ds lkFk yac cuk jgha gSa \ 

   ¼v½  ,eth jksM+ vkSj ,ych,l ekxZ  

   ¼c½  ekdsZV jksM+ vkSj ,eth jksM+ 

   ¼l½  ,ych,l ekxZ vkSj usg: jksM+   

   ¼n½  buesa ls dksbZ Hkh lM+dsa ,d&nwljs ds lkFk yac ugha cuk jghaA 

2- 4357 dk foLrkfjr :i gksxk &  

    gtkj    lSadM+k  ngkbZ    bdkbZ 

 4357  ¾   

 fjDr LFkku HkjsaA 

 ¼v½ 7 ¼c½  3 ¼l½  5 ¼n½  4 
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3-        HkkxQy   'ks"k  

 518 » 4 ¾           2 

 fuEu esa ls HkkxQy gksxk & 

 ¼v½ 132 ¼c½  129 ¼l½  127 ¼n½  130 

4- jfo ds ikl 5000 #- FksA jfo us cktkj ls 1760 #- ds diM+s] 1260 #- dk fdjkus dk 

lkeku o 1330 #- dh iqLrdsa [kjhnhA jfo ds ikl vc fdrus #i;s 'ks"k jgs \ 

 ¼v½ 750 ¼c½  550 ¼l½  650 ¼n½  850 

5- uhps fn, x, la[;k okD; dks ns[ksaA 

 120 x 40 ¾ 20 x  

 Åij fn, [kkyh fMCcs esa dkSu&lh la[;k gksuh pkfg, \ 

 ¼v½ 60  ¼c½  100 ¼l½  140 ¼n½  240 

English 

1. Which letter in the underlined word is silent (i.e. will not be pronounced)? 

 Raj waited for his sister at the station for an hour . 

 (A)   H (B)   O (C)   U (D)  R 

2. Choose the option that means the same as the underlined word. 

 What affairs are most important, asked the King ? 

 (A)  business (B)   questions (C)   answers (D)   digging 

3. Choose the option that means the OPPOSITE of the underlined word. 

 Birbal was very faithful to the King. 

 (A)   loyal (B)   unfaithful (C)   true (D)   honest 

4. Select the word which BEST completes the sentence below. 

 Have you seen a flour mill? It ___________ grain into flour. 

 (A)   grinds (B)   is grinding (C)   has ground (D)   would ground 

5. The following day, when they went to the hotel to pay the bill, they found 

that it had already been paid. 

 In the above sentence, what does 'it' refer to? 

 (A)   day (B)   hotel (C)   found (D)   bill 
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